Chabot College Drata Sheet—Elastic Collisions
OB 5

Tral 2
Af, = s
Vg = .
Show calculation. ) !.?-7 ng M
T S é7:0rﬂ
: ¥ Lo et
052§ S
A‘tbf - /’/
Vg T

Show calculation.

Al‘q’r = 0\1 - (Ai ‘
Show caleulation. L0132 5 - 01525 = LOE YO Sﬁ
Vi T
Show calculation. :
| ,009% m
I "
- 1638 =
L0550 3 .
Afbf =
Show calculation. oy L+ O S
"“_bfz
Show calculation.
L0095 m ™M
o 3 P
0IMD <
o=

Show caleulation. W bi T m. Vo

- f\f\\\ { L7 ¢ fx P (‘ﬁ\\
o mar o (s DN 524 L9 6250 ¢ )
P.o= 102553003 )= 52Tk et T
- o, PRt e
= O ds T EOMNE 3“8“
~




Data Sheet-FElastic Collisions
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Percent difference between p; and py.
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Is momentum conserved? Explain error.
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